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1. ZEJ.ZXZ(X3+ ) - (10%)
ot (x+1)°% + xe*
2. ﬁzjwdx - (109%)

3. CAIEH R Bk f(x) =X ~ x Bl R B4 x=-2 Fl x =1 fiTELHE
(1) FHHlEik R AYEF (3%)
(2) {ERERKEE R By (79%)

4. CHEERE f AEHEP EE—E P, 1)) TIERRIER x* —3x+1 » HekIEY i
(2,4) >Ker#gf- (10%)

5. HpGERERT t (DUHER) AVEE (DAJTEF) B p=100-3e™ —5e 2 » 7L t=
Ft=10 > FpE5LFEiE 10 (& H P 8EE AEZ/D ? (10%)

6. Find the derivative of the following function. (1096 )

f(x) =(@x-1°(2x* +3)*

7. Find the relative maxima and relative minima of the function. (109 )

fX)=x> — 3x° — 24x+ 32

8. The altitude (in feet) of a rocket t seconds into flight is given by
s=f(t)= —t2+96t°+195t+5 (t=0)

(1) Find the maximum altitude attained by the rocket. (79 )
(2) Find the maximum velocity attained by the rocket. (89 )

9. Find the inflection point of the function (159 )
f(x) =xe™*



